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(o) 1A 200a MRl 5 eleotrl 10 a0l e aadl 9. ¥ > 15
R UAv €11 d¥™ dHIRL diRBl oRlcl. @Al Geulet M2
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[n=5, 4,=0.58, D;=0, D, =2.11]

[esl 1 2 3 4 5 6 7 8 9 10
X 3290 | 3180 | 3350 | 3370 | 3280 | 3240 | 3260 | 3410 | 3310 | 3510
R 360 210 50 100 50 400 500 200 300 600

Ayl

1 (@) Al @il 2dlsid oiadl 8L (AQL) i A dlsla vidl 5
99l (LTPD).
(1) s e e+l (1000, 100, 2) W2 AQL=0.01, 5
LTPD=0.06 14 dl Bculesd BuiH du% Alss AvH Hadl,

(e_l ~0.368, e 0= 0.002479)
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(5) 12 [Bam =2 250 A3AIAL 25 Axtiil AsAel sl 24194, 10
vaflaton AL Avdl A4-iEls il Yol 9. np-2uau €1l
A3 IRl R,
Ge: | 1 |2 [ 3[4 5]6 7 [8]91w0]11]12
A s L a7 |23 [ 30 | 24 34 |39 | 32 [ 35 | 22 | 45 | 40
RREL T
2 () wHRs 2wl Gualbial eseudl. 5
(o) «flAAl MUl udl HaMl auee 214 AU abge a: 15
Qv HAH
O | Q| 95 | O
1970 | 46 | 44 | 48 | 42
1971 48 58 62 52
1972 52 66 60 62
1973 66 84 78 72
Yl
2 (2) udondl: [ue-«dluers yeasel. 5
(1) U3Udd AU 100 247 AASWAAL AHlS oc=0.30 ddt 15

adisle urollsredl A Al wlRdl w2 yaiquun s

Qi 1983 | 1984 | 1985 | 1986 | 1987 | 1988 | 1989

Bawet: | 120 132 145 161 186 210 225
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s dgdl HioL (A8 A yrasl [@Ra <l oot ©:
wiol [QBu: D=26-2p

yrasl @A S=2p7 —10p+2

AUAA Bud dMe w2l Assl s
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2
A 25 Al HioL @AY p:%

w2 1ol WL dv% el Hedd Sl R BHd wadl.
21l

Al @vil: Sonzl.

S5 SoARelRAL Uil L WA (A8 1A e 8:

x=T75=-3p C =100+3x

HetH Sl U2 Bauled 55l 5 AU HedH ASL kL

s Al X7 e 2sAlRs Bawe e wa A8

1 ~ ~ NN ~
C= Ex3 —3x2 —90x+500 S dl Bl 53 ¥ AR 2AscURs

Galler 30 e €1, QU YeltH W QY 9,

A quil: qleasl, ga glreasl, lHid gleomL.
o1 WS 2x + p =7 Ul AL qfreopst [ARud Hedn

orid el x 2y oll Budl 0 U = (x+2)7 (p+ 1)1

LYl
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(1) unaAd Gl (@Bl vl Ul 3R (Buler)d 33y 5

(o)

(a)
(b)

auil 2 AL S,

s Alesd qleael AHR0 = 4133 2 age Wil 10

X4+2y=12 9. ALs HetH AN 20 ddl x 2t p -l

Budl sl s2.

ENGLISH VERSION

What is SQC? State the uses of SQC. 5

The following table gives information regarding 5 bulbs 15
of 10 different samples. Draw X and R charts and state

your conclusions.

Also give the revised limits for the control of future

production: [For n=5, 4,=0.58, D;=0, D, =2.11]

Sample 1 2 3 4 5 6 7 8 9 10

X

3290

3180

3350

3370

3280

3240

3260

3410

3310

3510

R

360

210

50

100

50

400

500

200

300

600

OR

1 (a) Write notes on: Acceptance Quality Level (AQL) and

Lot Tolerance Production Defective (LTPD).

(b) For a SSP (1000, 100, 2), AQL=0.01, LTPD=0.06, find

Producer's Risk and Consumer's Risk.

(e_l ~0368, ¢ = 0.002479)
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(c) Samples of 250 radios each are inspected for 12 days. 10
The number of defective radios found in different
samples are given below. Prepare np-chart and state your

conclusion.

Sample 1 2 3 4 5 6 7 8 9 |10 | 11 | 12
No. of
. 25 | 47 | 23 [ 30 [ 24 | 34 (39 (32 |35]22 |45 | 40
Def. items
2 (a) Explain the utility of study of time series. 5
(b) Find seasonal variations and irregular variations. 15
Year Seasons

O | @2 | O3 | O4

1970 46 44 48 42

1971 48 58 62 52

1972 52 66 60 62

1973 66 &4 78 72

OR
2  (a) Explain: Input-Output Analysis. 5

(b) By taking o«c=(.4 and initial forecast as 100, determine 15

the production forecast for different years:

Years: | 1983 | 1984 | 1985 | 1986 | 1987 | 1988 | 1989
Prod.: | 120 132 145 161 186 210 225
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(b)

(c)

(b)

(c)

(b)

Write a note on: Demand function and Supply function.
The demand and supply functions of a commodity are

as follows:

Demand function: D=26-2p

Supply function: § = 2p2 ~10p+2

Determine the equilibrium price and quantity.

7500 — x>

If the demand function of a commodity is p = T

find the demand for maximum revenue. Also find the price

when revenue is maximum.
OR
Write a note: Monopoly.
The demand and cost functions of a monopolist are as
under:
x=75-3p C=100+3x

Determine the output for maximum profit. Also find
maximum profit.

For producing x tonnes per week, the cost function of a

1
commodity is C= Ex3 —3x% —90x+500. Prove that the

cost is minimum when the production is 30 tonnes a week.

Write notes on: Utility, Total utility and Marginal utility.

5

The utility function is U = (x +2)*> ( +1)"/> and the budget 10

equation is 2x+ y=7. Find x and y for maximum utility.

OR
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(a) State and prove Euler's theorem for Homogeneous 5

production function.

(b) The utility function of a consumer is [/ = 4x° y3. His 10

budget equation is x+2y =12. Determine quantities x and

y such that the consumer gets maximum satisfaction.
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